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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. Which of the following is not a status 

flag in microprocessor ? 

(A) Overflow flag 

(B) Trap flag 

(C) Interrupt flag 

(D) Index flag 

2. Which of the following registers is not 

used in opcode fetch operations ? 

(A) Program counter 

(B) Memory address register 

(C) Memory data register 

(D) Flag register 

3. A memory connected to a 

microprocessor has 20 address lines and 

16 data lines. What will be the memory 

capacity ? 

(A) 128 KB 

(B) 2 MB 

(C) 16 MB 

(D) 64 KB 

4. Which of the following is not true about 

8085 microprocessor ? 

(A) It is an 8-bit microprocessor 

(B) It is a 40 pin DIP chip 

(C) It is manufactured using PMOS 

technology 

(D) It has 16 address lines 

5. Which of the following is a non-vectored 

interrupt ? 

(A) TRAP 

(B) RST-5.5 

(C) RST-6.5 

(D) INTR 

6. What is stored in the H & L general-

purpose register ? 

(A) Opcode 

(B) Address of memory 

(C) Address of next instruction 

(D) Temporary data 

7. If a 64 GB memory has to be connected 

to a microprocessor, minimum how 

many address lines are required ? 

(A) 36  

(B) 39  

(C) 32 

(D) 37 

8. Which of the following is a software 

interrupt ? 

(A) TRAP 

(B) INTR 

(C) RST-6.5 

(D) RST-5 
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9. Which of the following is false about 

LDA instruction ? 

(A) It is a 3-byte instruction 

(B) It uses indirect addressing mode 

(C) It has 13 T-states 

(D) It doesn’t affect any flags 

10. Suppose registers ‘A’ and ‘B’ contain 

50H and 40H respectively. After 

instruction MOV A, B, what will be the 

contents of registers A and B ? 

(A) 40H, 40H 

(B) 50H, 40H 

(C) 50H, 50H 

(D) 60H, 40H 

11. Conditional instructions are independent 

of which of the following flags ? 

(A) Z 

(B) AC 

(C) CY 

(D) P 

12. Which of the following is a register-

indirect addressing mode instruction set ? 

(A) STA 2700H 

(B) ACI 36H 

(C) DAA 

(D) LDAX B 

13. Which of the following is true about 

microprocessors ? 

(A) It has an internal memory 

(B) It has interfacing circuits 

(C) It contains ALU, CU, and registers 

(D) It uses Harvard architecture 

14. Which of the following is not a property 

of TRAP interrupt in microprocessor ? 

(A) It is a non-maskable interrupt 

(B) It is of highest priority 

(C) It uses edge-triggered signal 

(D) It is a vectored interrupt 

15. Which of the following is a special-

purpose register of microprocessor ? 

(A) Program counter 

(B) Instruction register 

(C) Accumulator 

(D) Temporary register 
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16. Which of the following circuits is used as 

a special signal to demultiplex the address 

bus and data bus ? 

(A) Priority Encoder 

(B) Decoder 

(C) Address Latch Enable 

(D) Demultiplexer 

17. Which of the following is true about 

MOV A, B instruction ? 

(A) It means move the content of 

register A to register B 

(B) It uses immediate addressing mode 

(C) It doesn’t affect the flag register 

(D) It is a 2-byte instruction 

18. Which of the following is not correct 

about HLT instruction ? 

(A) It is a machine control instruction 

(B) It is used to start the execution of 

the program 

(C) PC is disconnected from the 

address bus 

(D) A reset interrupt is required to 

come out of halt state 

19. Which to of the following is true about 

SPHL instruction ? 

(A) It uses indexed addressing mode 

(B) It is a 3-byte instruction 

(C) It requires three T-states 

(D) Contents of HL pair is moved to SP 

20. In 8-bit microprocessor, how many 

opcodes are present ? 

(A) 246  

(B) 278 

(C) 250  

(D) 256 

21. The instruction that is not possible 

among the following is : 

(A) MOV AX, BX 

(B) MOV AX, [BX] 

(C) MOV 55H, BL 

(D) MOV AL, 55H 

22. The registers that cannot be used as 

operands for arithmetic and logical 

instructions are : 

(A) general purpose registers 

(B) pointers 

(C) index registers 

(D) segment registers 
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23. The number of PUSH instructions and 

POP instructions in a subroutine must  

be : 

(A) PUSH instructions must be greater 

than POP instructions 

(B) POP instructions must be greater 

than PUSH instructions 

(C) Both must be equal 

(D) Instructions may be any kind 

24. For 8086 microprocessor, the stack 

segment may have a memory block of a 

maximum of : 

(A) 32 K bytes 

(B) 64 K bytes 

(C) 16 K bytes 

(D) None of the above 

25. Which of the following is not a data 

copy/transfer instruction ? 

(A) MOV 

(B) PUSH 

(C) DAS 

(D) POP 

26. Which of the following instructions is 

not valid ? 

(A) MOV AX, BX 

(B) MOV DS, 5000H 

(C) MOV AX, 5000H 

(D) PUSH AX 

27. In POP instruction, after each execution 

of the instruction, the stack pointer is : 

(A) incremented by 1 

(B) decremented by 1 

(C) incremented by 2 

(D) decremented by 2 

28. The instruction, MOV AX, 1234H is an 

example of : 

(A) register addressing mode 

(B) direct addressing mode 

(C) immediate addressing mode 

(D) based indexed addressing mode 

29. The contents of a base register are added 

to the contents of index register in : 

(A) indexed addressing mode 

(B) based indexed addressing mode 

(C) relative based indexed addressing 

mode 

(D) based indexed and relative based 

indexed addressing mode 

30. In general, the source operand of an 

instruction can be : 

(A) memory location 

(B) register 

(C) immediate data 

(D) All of the above 
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31. During comparison operation, the result 

of comparing or subtraction is stored in : 

(A) memory 

(B) registers 

(C) stack 

(D) nowhere 

32. The directive used to inform the 

assembler, the names of the logical 

segments to be assumed for different 

segments used in the program is : 

(A) ASSUME 

(B) SEGMENT 

(C) SHORT 

(D) DB 

33. The extension that is essential for every 

assembly level program is : 

(A) .ASP 

(B) .ALP 

(C) .ASM 

(D) .PGM 

34. The Stack follows the sequence : 

(A) first-in-first-out 

(B) first-in-last-out 

(C) last-in-first-out 

(D) last-in-last-out 

35. When a stack segment is initialised  

then : 

(A) SS and SP are initialised 

(B) Only SS is initialised 

(C) Only SP is initialised 

(D) SS and SP need not be initialised 

36. An interrupt breaks the execution of 

instructions and diverts its execution to : 

(A) Interrupt service routine 

(B) Counter word register 

(C) Execution unit 

(D) Control unit 

37. NMI stands for : 

(A) Nonmaskable Interrupt 

(B) Nonmultiple Interrupt 

(C) Nonmovable Interrupt 

(D) None of the above 

38. Example of an external interrupt  

is : 

(A) divide by zero interrupt 

(B) keyboard interrupt 

(C) overflow interrupt 

(D) type 2 interrupt 
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39. When does the CPU execute IRET : 

(A) contents of IP and CS are retrieved 

(B) the control transfers from TSR to 

main program 

(C) clears the trap flag 

(D) clears the interrupt flag 

40. In static memory, the lower 8-bit bank of 

an available 16-bit memory chip is  

called : 

(A) lower address memory bank 

(B) even address memory bank 

(C) static lower memory bank 

(D) odd address memory bank 

41. How many pins are multiplexed in 8085 

microprocessor ? 

(A) 12 

(B) 16 

(C) 8 

(D) 4 

42. Which flag is set, when most significant 

Bit is 1 after an operation ? 

(A) sign flag 

(B) parity flag 

(C) carry flag 

(D) zero flag 

43. Input and output data transfer can take 

place only between : 

(A) B register and input output device 

(B) Program counter register and input 

output device. 

(C) Stack pointer register and input 

output device. 

(D) Accumulator and input output 

device. 

44. The higher order address lines are  

fully present for how many clock  

cycles ? 

(A) 2 

(B) 3 

(C) 5 

(D) 4 

45. In 07H : 

(A) 07h is the address of the input port 

(B) 07h is the address of the output 

port 

(C) 07h is the data to the input port 

(D) 07h is the data from the input port 
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46. H = 56 h, A= 00h, After the execution of 

XRA H : 

(A) Data in A = 23H  

(B) Data in A = AAH 

(C) Data in A = 68H  

(D) Data in A = 56H 

47. D = 56h, A= 00h, After the execution of 

CMP D : 

(A) carry flag = 1, zero flag = 1 

(B) carry flag = 0, zero flag = 1 

(C) carry flag = 1, zero flag = 0 

(D) carry flag = 0, zero flag = 0 

48. How many machine cycles are needed to 

execute LDA 4000 instruction ?  

(A) 2 

(B) 4 

(C) 5 

(D) 3 

49. One ‘T- state is 0.1 microsecond, then 

the processor operates at : 

(A) 10 MHz frequency 

(B) 20 MHz frequency 

(C) 30 MHz frequency 

(D) 40 MHz frequency 

50. Subprogram is always terminated by 

___________ instructions. 

(A) RET 

(B) PUSH 

(C) Halt 

(D) RST 

51. If more than one interrupt occurs at same 

time, on what basis interrupts assign to 

the processor ______________. 

(A) Priority basis 

(B) Random basis 

(C) Processors stops to accept interrupt 

(D) Delay basis 

52. SIM instructions are used to perform 

___________ communication. 

(A) Parallel 

(B) Serial 

(C) Both serial and parallel 

(D) Not used for communication 

purpose 

53. All the functions of the ports of 8255 are 

achieved by programming the bits of an 

internal register called : 

(A) data bus control 

(B) read logic control 

(C) control word register 

(D) None of the above 
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54. In BSR mode, only port C can be used  

to : 

(A) set individual ports 

(B) reset individual ports 

(C) set and reset individual ports 

(D) programmable I/O ports 

55. The signals that are provided to maintain 

proper data flow and synchronization 

between the data transmitter and receiver 

are : 

(A) handshaking signals 

(B) control signals 

(C) input signals 

(D) None of the above 

56. The number of counters that are present 

in the programmable timer device 8254 

is : 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

57. The mode that is used to interrupt the 

processor by setting a suitable terminal 

count is : 

(A) mode 0 

(B) mode 1 

(C) mode 2 

(D) mode 3 

58. The generation of a square wave is 

possible in the mode : 

(A) mode 1 

(B) mode 2 

(C) mode 3 

(D) mode 4 

59. If BCD = 0, then the operation is : 

(A) decimal count 

(B) hexadecimal count 

(C) binary count 

(D) octal count 

60. The operation that can be performed on 

control word register is : 

(A) read operation 

(B) write operation 

(C) read and write operations 

(D) None of the above 
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4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


	ELC-402(N)-Cover A.pdf (p.1-3)
	ELC-402-N-Set-A.pdf (p.4-11)
	A190204T cover A.pdf (p.1-3)
	A190204T-Set-A.pdf (p.4-32)

